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class MembersCard{ _————A
private static int serial=0:
private int id; B

public MembersCard(){ — C
serial++;
id=0;

public MembersCard(int n)
this();
id=n;

}

{ public void func1 (){

H

ORI

System.out.println(id);
}
public void func?2 (int n){
Cidn— Ty
}
public static void func3(){ —K
System.out.println(MembersCard.serial);

}

}

class Intermediate2{
public static void main(String[] args){
MembersCard mcard=new MembersCard();

int i=2;
mcard.func2(i);
mcard=null.  ~_ N
} >~ M
}
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(1) class Intermediate3_1{
public static void main(String[] args){
MembersCard p=new MembersCard( );
p.funct ();

}
(2) class Intermediate3_2{
public static void main(String[] args){
MembersCard p=new MembersCard(2);
p.funct ();

}
(3) class Intermediate3_3{
public static void main(String[] args){
MembersCard p=new MembersCard( );
MembersCard a=p:
p.func2(3);
a.funci1();

(4) class Intermediate3_44
public static void main(String[] args){
MembersCard.func3();

(5) class Intermediate3_5{
public static void main(String[] args){

MembersCard p=new MembersCard(5);

\ MembersCard.func3();

}
(8) class Intermediate3_6{
public static void main(String[] args){
A a=new Al();
a.func();

}
(7) class Intermediate3_7{
public static void main(String[] args){
A a=new Al();
\ afunc(7, 14);

}
(8) class Intermediate3_8{
public static void main(String[] args){
B b=new B(8);

(9) class Intermediate3_9{
public static void main(String[] args){
\ C c=new CI();

}
(1 O) class Intermediate3_10{
public static void main(String[] args){
C c=new C(10);

(1 1) class Intermediate3_11{
public static void main(String[] args){
\ D d=new D(11);

}

class A{
public void func(){
func(10);
System.out.printin("A17);

public void func(int i{
System.out.printin(CA27);

public void func(int i, int ) {
System.out.printinCA3");
func(i);

}

class B{
public B(){ o
System.out.printin("'B17);

public Blint i){
this();
System.out.printin("B27);

class C extends B{
public C(){

System.out.printin("C17);

}
public Clint i{
super(i);

System.out.printin("C27);

}

class D extends Cf
public D(){
super();

System.out.printin('D17);

}
public D(int i){
this();

System.out.printin('D27);

}
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